


Objectives
 Identify early changes in patient 

pathophysiology

 Recognize changes in compliance

 Recognize changes in resistance





The Pressure Graph….



Any difference between PPLATEAU and PEEP is due to the volume 
of gas forced into the lung (VT) and the lung compliance (CLT)

PPLATEAU - PEEP  =  PSTATIC      (Ventilating Pressure)

Since CLT = ∆V  ,  then this formula can be rewritten so that:
∆P

CLT = VTe

PPLATEAU - PEEP
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= ∆PST (2° to VT & CLT)



Any difference between PPLATEAU and PIP is due to flow and 
resistance to flow.
PIP  - PPLATEAU =  PDYN

Since V = ∆P  ,  then this formula can be rewritten so that:
RAW

RAW = PDYN

V
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time

= ∆PDYN (2° to flow & RAW)
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Resistance 
Problems

Compliance 
Issues

 Secretions
 Bronchospasm

 Restrictive Lung 
Diseases

 Atelectasis
 Pneumonia
 ARDS



Take Home Points
 Greater the variance between PIP and 

PPLAT  (increase PDYN) indicates an 
increase in resistance

 A compliance issue is indicative of a 
decrease PDYN (less variance of PIP and 
PPLAT)



Questions??
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